1. S A%« yol disted §4 (1+i)(x-yi) = 3+i7F 8H 2 1), 2x 4y
o gre? (& i=v-1)

@® -1 @1 ® 3 @ 5 ®7



A x+y+ (x-2y)i = 1+ 7i< WEok= F A4 x, yoll tiste] xy
ol groy (dhi= V-1)

@® 3 @ -3 ® 6 @ -6 ® 8



3.

=8|
=

o
a—

(a+3b)+ (a—2b)i =7-3i

o ke

@ -3 @ -1 @1



4. (1+30)(1-30) = (2-1)(3+i) & AASTA?

O 17-i @ 3+i ® 3-i @ 7+ ® 7-i



et W (14 ai)(1 -ai) o g FoHA L.



TatAl S

& a+bo) e

Al
=

she =

M

B

1t







= 2+i 1—4i
54 =a
1+ V2i/ \1 -2

o a-3b ] = 5ozt

Ll &ia-3p=



® 3

0|

0 [0

@ 2

NeN Bia)



10.

j
54

a

(x+yi)(z—i) =10 ¥
o) & Fotedet. (2 i= V-1)

Ct
=

A

=
=

St A vy, 29 4% (xy.2)



11. x=2007, y=4331d o, 2 L Y= o1 109
y—xi x+Yyi

Do @1 ® -1 @ i



12, B4 x =a+bi(a, be A5) 7% =3+4i, x* = 2411 5 TS

Ha+b 2 FH2? (HFi=V-1)

@1 @ 2 ® 3 @ 4 ®5



13.

(3 +4i)°(15 - 20i)° = 7F

@ 57 @ 5%



@ -16 ® 16i @ -16i ® o0

O 16



15. ., 3-5i . 3450 2

4-3 4 S 5] et A2
z+1+i+z+ T 1= e o] g A

)

@ -i @ 3 ® 4i

@ 5 ® 1+3i



71, 22 O THStA 21+ 20 =2 D M, 71 - 20
21, 22 9 Al EAaaoltt)

® 3 @ 4 ® 5



ol

;!

a(1-1i)x* + (3+2ai)x+ (2a+3i) = 0°]

174

CEPER

o

xoll @3t o]

17.

sh?

q_

O
=

s

271 9]

® 3

1



® a?<0



a=a+bi(a besAg i= V-)¥dW, & =b+aizt?

® 2+i

his

0|
-

o,



20. A% n ol tsted i1+ i) o] %] A

AE A2?

4

O 18 @ 19 ® 20



